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SA B S (AH) - NRA - BES 0f o gl RS2
207 Ao 16,020 17,800 21,780
02 & &K 2| 16,020 17,800 A 1,780

OO0ISKZoM & BHEHNE SEF Jats 6,020 7,800 A1,780

ANH2el 24 X 40,084 42,002 21,918
201 2Bt2 Yl 40,084 42,002 21,918
01 At 2t el b 8,838 9,820 A 982

Oget+=ZH| 6,570 7,300 AT30
—LUUMER(HER, SAEN) 1,170 1,300 2130

—da A2S(EH,Y3) 2,700 3,000 A 300

— 220 225 (2], 253 X) 2,700 3,000 A 300
OSREANZEATSE A& 1,134 1,260 N 126
Osgd (X"l g) 1,134 1,260 A126

02 3224l 31,246 32,182 A 936
O=s=2= & MA 146 360 A214

— S HEE SRS 12,1008 +123 146 360 A214

OAIZ &I Xlbl 31,100 31,822 NT22
—DNSAUIESEANAN AH FAE=> 29,000 29,722 AT22
ANEMEAL = 103,082 111,698 8,616
K& THE AL 22l 103,082 111,698 28,616

KETHZ AR 2te 103,082 111,698 A 8,616
201 er2ddl 37,078 41,198 N4,120
01 At 22l Yl 36,171 40,190 24,019

Oget+=ZH| 33,525 37,250 N3,725
—dHAXT 2ZFSME B8 9,000 10,000 A 1,000

— A7 2 SNE 22 17,100 19,000 21,900
—XNEMEA 222 & =2 WA 1,800 2,000 A 200
—NEMZAMN RB= 2/EESF NF 135 150 A15

— XNETHEA A& eIy 900 1,000 A 100
—NEMEAL ZIEH A2F 2,700 3,000 A 300

— KNETHEA THEX (A0) 900 1,000 A 100

— NEHEZAL SALEX 990 1,100 A110
Oo=2d8=+¢ 1,612 1,680 A 168
—NETHEAMAZE A=E 756 840 N84
—dA2ZAA3 SAxE 756 840 N84
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OXAXT ZHS B3 33,250 35,000 A1,750
405 R4+ F S| 9,004 10,500 A 1,496
01 Hare 22 5 S| 9,004 10,500 A 1,496
OXIETHEA B AL 6,304, 0008 * 104 6,304 9,000 ~2,696
oges 2UH 300,000 *4CH 1,200 0 1,200
ssaree 62,210 68,660 16,450
SSM S8 62,210 68,660 16,450
Amoe wa 45,576 50,300 N4,T24
201 2Bt | 45,576 50,300 £ 4,724
01 At 22l 6,300 7,000 AT00
Oget+ 2| 6,300 7,000 AT00
—=ADLDREH S A2E 3,780 4,200 £ 420
- = A8 2,520 2,800 A 280
02 ZZ 2l 39,276 43,300 £4,024
OA&ZHIRX I 39,276 43,300 £ 4,024
—HRENYBANAUNY(63) RNSS 16,614 18,460 A 1,846
—SREXNFBAAL(SM) RX24 6,495 7,000 A505
— ALY WA RXES 3,097 3,320 ~223
~ MW DIAAYANAY RABA S 13,070 14,520 A 1,450
SENsSE 29 X 15,534 17,260 A1,726
201 Yer2 | 15,534 17,260 A1,726
01 At 22l 15,534 17,260 A 1,726
ONg=REEZ 4F8A +42 14,400 16,000 A1,600
OB (RSHS=E) 1,134 1,260 A 126
SEYFL HIIS 226,631 239,050 A 12,419
= 25,000 25,000 0
2 181,631 214,050 ~32,419
= 20,000 0 20,000
cSEYFA YP 226,631 239,050 A 12,419
= 25,000 25,000 0
2 181,631 214,050 £32,419
= 20,000 0 20,000
SRYEL AS ZIFE 91,822 114, 164 ~22,342
201 ety 64,453 85,770 ~21,317
01 At 2+ 2l | 39,892 58,480 18,588
OLIETE= ] 38,380 56,800 18,420
— IS A=A ARE 1,800 18,000 16,200
—FOHYS TERYFL ST (SHIAI) 19,980 22,200 ~2,220
OS2YFLAAS AA+Y 1,512 1,680 £ 168
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ozzaez 2 MAl 6,561 7,290 AT29
—PEHQZ(ETRYTL QAL 2B) 6.561 7,290 AT29
401 Al HI L =TI 19,475 20,500 A1,025
01 A&l 19,475 20,500 £1,025
or-1-F: 7,600 8,000 A 400
OAESHsH 4,750 5,000 A 250
ozzye A 7,125 7,500 A3T75
HEZAXIIL FA & H 89,809 99,886 A 10,077
201 2pte | 89,809 99,886 £10,077
01 At 2RIt 87,369 97,078 £9,709
Ot 84,345 93,718 £9,373
—WEZAXD S22 (HIIE) 52,052 57,836 15,784
—HEBAXD ASLLE(FAE) 17,586 19,540 A 1,954
—HETAIXL 01N E BESL2 2,647 2,942 1295
— HETAIKOL 2ADRIE LD E(44) 2,880 3,200 A 320
—HEBAIKIOL ZRAZAD| AR E(44) 2,700 3,000 A 300
—HETAIXI B2H 222 (424) 2,700 3,000 A 300
—HEDAIXIL TALE TS (AO) 3,780 4,200 £420
ORSHEIIABS MAsS 3,024 3,360 1336
02 ZZ 2l 2,440 2,808 1368
OnzzmRH RS2 1,000 1,008 ~8
ozzaez %2 MA 240 600 A 360
~EXNSHTAS HEUPC NSRS 240 600 A 360
HEE CE2YE S QWAL 5 20,000 0 20,000
s 20,000 0 20,000
401 Al HI YL 2 T 20,000 0 20,000
= 20,000 0 20,000
01 Al&H 20,000 0 20,000
OHHHC 2T S HHAE HE(HYE 20,000 0 20,000
s 20,000 0 20,000
HYSAPH (ZHUAL) 63,535 70,075 16,540
EEL] 63,535 70,075 £6,540
PEEENCIECE 1)) 31,135 34,075 A2,940
201 Lpte | 12,155 13,175 A1,020
01 Ab2 22l 12,155 13,175 A 1,020
OBNSY Lot 9,180 10,200 21,020
202 01t 15,200 16,700 A1,500
01 U0l 15,200 16,700 A1,500
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VRIS 3,780 4,200 £420
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=2 ZHl (R B2lE) 8,100 9,000 A900
202 01t 8.100 9,000 £900
01 =L o1 bl 8,100 9,000 2900
SENWT: 8,100 9,000 A900
Iz (RSHS=Y) 8,100 9,000 £900
202 01t 8,100 9,000 £900
NETET 8,100 9,000 900
O=Uoi ) 8.100 9,000 £900
=2 (MEAE) 8,100 9,000 A900
202 04t 8,100 9,000 A900
01 =LH ot bl 8,100 9,000 £900
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IETTT 8,100 9,000 £900
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